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Math 102
Practice Exam Covering Ch. 7 & 8.2
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For questions 1 -7, circle the right answer:
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3. Using cylindrical shells, the volume of the solid that results when the region enclosed by
y=x* y=0andx=3, isrevolved about the line x=3:
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8. The area of the surface generated by revolving the parametric curve:

Vs
x=sin’t, y=sinfcost, O<z‘<—— about the x-axis is:
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PART-II

Solve each of the following questions:
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9. Consider the region bounded above by the line V = *5’ and below by the curve Si1 y = \[; as shown.

Suppose we rotate the region about the x-axis to make a solid, and we want the volume.
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(a) Set up an integral to find the volume using washers method. 4
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(b) Set up an integral to find the volume using shells method.
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11. Evaluate jx S5€C (*Z—)dx
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12. Find the arc length of the curve
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